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MR JONES’S HOME IMPROVEMENTS
Mr Jones decided to carry out the following improvements to his home.
To repair his roof, he needed 78 new tiles. The tiles came in packs of 12. 

1. CALCULATE HOW MANY PACKS HE WILL NEED.

The tiles cost £25.95 per pack

2. CALCULATE THE COST OF THE TILES HE NEEDS.
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Mr Jones is building a garage in the corner of his garden (grey shaded area).

3. CALCULATE THE AREA OF HIS GARAGE SPACE.
4.  WHAT IS THE AREA OF THE REMAINING 
          GARDEN SPACE?
He is also going to replace the fence round the outside of the garden from point A  to point B.
                              5. CALCULATE THE TOTAL LENGTH OF

                              THE FENCE PANELS HE WILL NEED. 
                         The fence panels cost £9 per 2 metres.
                              6. CALCULATE THE COST OF THE FENCE.

Inside his house Mr Jones paid £6395 for a new fitted kitchen, £4025 for a new central heating boiler, £1210 for new radiators and £ 3720 for new carpets.
                             7. CALCULATE THE TOTAL COST OF THESE 

                             IMPROVEMENTS
In April, Mr Jones paid a 20% deposit on the kitchen and a 15% deposit on the carpets. He paid the rest of the money in May, when the work was completed.

                     8. CALCULATE THE TOTAL OF BOTH DEPOSITS 
                         (i.e. how much he had to pay in April).
                    9. CALCULATE THE REST OF THE MONEY HE HAD 

                    TO PAY IN MAY,
